(Partial least-square PLS)
(DPS
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(partial least squares)

10
1.
an m Ynx k
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u=byt+€
1
§ bj bj b, = (thtj) tju,
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uj ti U
Xj+1:Xj_tjpjT’Xj:X’ pj:XJth/(thtJ)
Y..=Y,-btal Y =Y, p =Xt /t)
A . A T
X=>tp +E Y=>0Gq +F
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2

| n
PRESS ;) = ;Z(yik - 9k(j)(—i))

PRESS)-PRESS;.1)

PRESS
Pascd
“ DPS "
http://www.chinadps.net
2
(http://ust40.html.533.net ) VD3
4 7
7 2
X1 X2 X3 Xa Y1 Y2 Y3
30 405 15 475 76.7 52.2 40.0
40 435 3.0 45.0 84.3 53.4 45.0
50 465 1.0 425 65.6 38.7 254
60 390 25 40.0 69.3 371 257
70 420 0.5 375 38.6 46.3 20.0
80 450 2.0 35.0 58.1 34.4 20.0
90 480 35 50.0 59.3 373 22.1
15 7
/
Fx

PRESS
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x1 X2 X3 X4

yl -0.32017 -0.05775 0.25902 0.29784

y2 -0.36651 -0.13511 0.01560 0.29441

y3 -0.40514 -0.11299 0.16486 0.35029
3

y1=-220.7351-2.0870x1-0.1579x2+54.4213x3+15.1891x4+0.007466x12+0.000508x22-
3.1747x32-0.1055x42+0.002536x1x2+0.01375x1x3-0.003724x1x4-0.03386x2>@,-0.009298x2x
4-0.5714x%3%4

y2:-629.4643-0.4055x1+2.6433x2-33.2815x3+6.8048x4+0.004211x12-0.003051x22+2
.01072x32-0.05955x42+0.000400x1x2-0.09135x1xg-0.005254x1x4+0.048726x2x3-0.003350
XoXq+0.2267X3X4

y3=-593.0145-1.1637x;+1.9208x,-2.8398x3+11.3205x4+0.006231x;%-0.002085x,°+0

.2154x32-0.08792%,2+0.001344x;Xo-0.06298x X5-0.005448x; X4 +0.02289%-%3-0.006306X,X
4-0.06272%3x4

3 3 3
Press
R
3
3
2§ Press
Y1 Y2 Y3 Y1 Y2 Y3 Y1 Y2 Y3
1 2.81833 354253 2.08920 0.53028 0.40958 0.65180 4.26100 5.40944 4.27302
2 142179 2.82031 0.62936 0.76303 0.52995 0.89511 3.55193 5.29229 3.08667
3 0.89157 0.24953 0.38381 0.85140 0.95841 0.93603 4.03162 4.99766 2.82919
2
X1 30.0000 x; 418.2546 X3 3.5000 x4 47.2173
144.97 y1=80.17, y»,=61.30,
y3=48.69

(Partial least—squares regression)
1983 (S Wold) (C Albano)
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